Answers to Tutorial 10

Tutorial 10. 
Using Data Stored in ROM

	1.
	The TMS320C5000 has more program memory than data memory. To conserve data memory, read-only variables such as filter constants can be stored in program memory and worked on directly.  

	2.
	The term program memory address can be abbreviated to pmad.

	3.
	When copying a block of data from program memory to data memory using the instruction MVPD, indirect addressing allows the pointer to data memory to be incremented or decremented. Direct addressing does not allow successive data memory addresses to be worked upon.

	4.
	To copy a word from program memory address 400h to data memory address

100h we write:

MVPD 400h, 100h

	5.
	A look-up table offers a quick and convenient method of deriving a non-linear output from an input. It can be used where the mathematical relationship between input and output is complicated e.g. sine law.  

	6.
	The instruction MVPD is designed to copy a block of data from program memory to data memory. On the other hand, the instruction READA is designed to copy an individual word from program memory to data memory, for example, as part of a look-up table. 

	7.
	The assembler cannot differentiate between the values in a look-up table and executable code. Normally, the look-up table would be put in a block of its own, outside the executable code. Should it be necessary to put the look-up table within the executable code, then a B instruction should be put at the beginning of the look-up table so that it is skipped during program execution.

	8.
	When using the instruction MACP, we only need to specify the starting address in program memory. The instruction MACP automatically increments the pointer to program memory so that successive locations are worked upon.

	9.
	The instruction RPTZ means clear to zero the accumulator specified by the first operand and then repeat the following instruction the number of times specified by the second operand e.g.:

RPTZ A, 99 ; Clear accumulator A then do 99 repeats.

	10.
	When carrying out a series of multiplications with accumulation using the instruction MACP, we need to start with zero as our accumulated total. The instruction RPTZ clears the specified accumulator to zero before doing the repeats, while the instruction RPT does not. 
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